2.3 Yerbal Problems Involving Ratio
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Ratio Word Problems

let x = vatio -pzc"of'

m““'.f’\‘f each part o 4he T}ca cato
by % o idontfy Hlo rHen.

Ex: ¢
led = vediv Rker

=~
Ty~

Examples:
1. Two numbers are in a ratio of 5; 6. If the sum of
the numbers is 66, find the larger number.
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2. Two numbers have the ratio 7: 5. Their difference is 12.
Find the numbers.
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3. The perimeter of a triangle is 60 ft. If the sides are in
the ratio 3: 4: 5, find the length of each side of the
triangle.
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4. The leng‘[h@ygigt_h ratio of a rectangle is 5: 2.

Find the length if the perimeter is 28 cm.
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5. In a basketball foul-shooting contest, the points made ._
by Sani and Wilbur were in the ratio 7: 9. Wilbur thad®
6 more points than Sam. Find the number of points
made by each player.
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HOMEWORK

Worksheet - HW 2.3 Ratio Word Problems




